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  Period____Date________________Solving Quadratic Equations By Factoring

Solve each equation by factoring.
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Critical thinking questions.  True/False.

19)  If a quadratic equation can be factored and
each factor contains only real numbers then
there cannot be an imaginary solution.

20)  If a quadratic equation cannot be factored then
it will have at least one imaginary solution.
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Solve each equation by factoring.
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Critical thinking questions.  True/False.

19)  If a quadratic equation can be factored and
each factor contains only real numbers then
there cannot be an imaginary solution.

True

20)  If a quadratic equation cannot be factored then
it will have at least one imaginary solution.
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